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AHAERT 100 120 116 236 IHTHN 11,974 11,881 13,134 25,015|%ET =T H 148 148 124 272 F RAHRT 519 650 719] 1,369
ARYHT 224 207 221 428 FEIT=TH 130 132 124 256  HEHIX 3,080 3,982 4,106 8,088
JEBT 355 332 382 T14| 5 EHT 230 271 277 548 fxMTIU T H 70 55 56 111
B 539 565 598| 1, 163|fRiENT 3,480 3,886 3,903 7,789 AHFHHX 9,938 10,864 10,201| 21, 065|F/AHT 328 454 475 929
& ST 305 309 335 644 FrifarlT 196 222 238 460 A ET 195 304 314 618
FE M 275 256 274 530|7 FHIT 517 533 560 1, 093| Hrfmy 1,004 1,281 1,333 2, 61451 LMT— T H 660 831 949 1,780
)1 ET 117 129 137 266(iTART 3,236| 3,561 3,652 7, 213|387 H AT 353 437 465 902(Hk I LIBT — T H 228 283 302 585
KAGHT 650 639 628 1, 267| HRAT 3,026 3,456 3,604 7, 060 H 2 MT 1, 664 1,878 2,009 3, 887| AR/ Z=MAT 636 819 859 1,678
$RmT 17 12 20 32| T 565 650 659 1,309 H My 863|  1,081| 1,084 2,165 L4 M 1,359 1,781 1,916/ 3,697
FSHT 62 56 67 123| B ET 1,245 1,494| 1,519] 3,013] #HemRHX 3,884  4,677| 4,891 9,568 Fg/\iEHiX 3,406  4,472| 4,815 9,287
b= T 222 256 295 551 KARHT 160 172 179 351
drisET 69 60 67 127| A YERT 339 417 467 884| H-EFHT 2,574 2,902| 3,037 5,939 EAET 445 504 567| 1,071
JUREHT 124 107 132 239| I ERIT—T H 336 420 446 866 A/ \AHT 1,012 1,226 1,170| 2, 396|ZEIkHT 264 359 367 726
HHET 160 122 110 232| HHRET T H 372 460 428 888| /1N J\AHT 1,160| 1,453 1,427|  2,880|H % MHET 745 856 897| 1,753
TREHT 79 61 82 43| ERIT =T H 416 489 494 983| IE@L=FHT 386 480 530 1, 010 HH BLmT 187 243 243 486
FFIHET—T H 157 145 175 320( HEIRETIUT H 279 384 403 T87|FEETE —T H 44 46 15 61| Hmy 977 1,254 1,317 2,571
FRIHET T H 110 117 115 232 IFRMIX 14,397| 16,415 16,829| 33, 244|RRMTPE —TH 94 94 81 175|#f BT 584 775 798| 1,573
FFIHET =T H 130 139 149 288 fErT—TH 219 203 241 444|  HEEHIX 3,202|  3,991| 4,189 8,180
FRTHETY T H 142 177 182 359| A1 JFLHT 3,523 4,155 4,313 8, 468| MM T H 34 35 38 73
A FalT 451 467 523 990 [y [T —T H 258 296 322 618|EAT =T H 13 14 16 30| AR P IT 5,284|  6,372| 6,490 12,862
=F: L 18 14 22 36| rIRT T H 563 662 721 1, 383| =AU T H 102 111 109 220| = JFHT 146 190 229 419
iy 167 165 188 353[ TRl =T H 824 892 968 1, 860| UL LMT 1,757 2,140 2,238 4,378 AEEFMHX 5,430|  6,562| 6,719 13,281
=R 47 32 48 80 =52 HT 1,786 1,828 2,009 3,837  HJIHX 7, 395 8,704|  8,902| 17,606
T 180 164 187 351 | FEpFHAT 1, 383 1,577 1,615 3,192 RIRHT 399 516 565 1,081
RILHT 473 505 544| 1, 049| B2 FHT 182 198 221 419( 4 FHmT 472 539 613| 1, 152|5X HHET 481 562 599| 1,161
(=) 38 35 37 72|\ FHRHET—TH 470 548 508 1, 056 Al T 2,121|  2,575| 2,505 5, 080| k& EFHT 537 682 640 1,322
fEFHET 89 76 93 169[ )\ TR =T H 354 380 416 796 TR BT 211 278 311 589 74 e HT 126 161 145 306
HEAHT 45 40 48 88|\ FHRET=TH 421 485 517 1, 002 &y 1,024 1,274] 1,362 2, 636|#EMT 503 723 726 1,449
FHET 206 191 210 401{\NFARETIY T B 363 437 487 924| fIRET 475 597 607 1, 204| 5 EET 345 431 408 839
f=Lg 176 191 192 383l X 10,127| 11,458 12,097| 23, 555|HTE=HT 365 397 467 864 |t 4 0T 461 613 615/ 1,228
T bET 572 614 660 1,274 J\ T 1,991 2,521 2,596 5,117 T B 2,852| 3,688) 3,698| 7,386
FEASHT 30 25 28 53| L EFmy 2,165  2,609| 2,653 5, 262|3 HET 117 165 170 335
ST 529 519 599 1, 118|{&=BF¥ERT 35 40 45 85 I\ H1X 6,776  8,346| 8,631 16,977| LiHT 234 341 318 659
FRHT 27 29 34 63| k- EmT 3,331 3,792| 3,683 7,475 TERETHT 128 189 191 380
LT 168 162 169 331| AL AT 349 411 470 881 f 5 fi] W] 1,149) 1,453 1,469 2,922 F75 HHET 139 202 195 397
JEET 198 177 217 394/ 2 HT 613 621 627| 1, 248| F & ET 1,794 2,167 2,209| 4, 376| FHEHT 355 486 457 943
AT 368 367 399 766 TSP HT 1,096) 1,352 1,348| 2, 700 [y 797 979 1,014 1, 993|H FHT 269 421 405 826
R AT 41 36 43 79| 23T 1,227 1,612 1,624 3, 236|dt/AfRET 419 492 559 1, 051| PR FNT 365 414 383 797
AT 1,594) 1,668 1,816 3, 484| Frp/EHT 924  1,167| 1,142|  2,309| E-fihx 4,159  5,091| 5,251| 10, 342|/\i&/FHT 286 413 445 858
fi FE T 218 223 253 476| 1% PEWT 404 483 488 971 ) | 1 (X 1,776  2,466| 2,394 4,860
icLZLig 119 129 147 276| FJEHT— T H 498 590 558| 1, 148|7HT 460 579 575/ 1,154
F T 158 144 155 299 HRJEET T H 1,414 1,582 1,831 3, 413| 45 T 410 548 518 1, 066 A PHIMT =/ £ 494 675 690 1,365
‘= IehT 196 175 250 425\ fERT =T H 586 684 749 1, 433| AL HT 152 214 207 421| A vAIRTHE 430 592 600 1,192
Amy 192 166 203 369| HEATIU T H 563 694 690 1, 384|417 /10T 127 177 189 366| BHET KA 172 253 257 510
JEAHERET 59 51 31 82 MY 845 980 996 1, 976|511 1, 109 1,455 1,539 2, 994 A PHIITSE K 116 168 171 339
A1) 328 349 416 7651 Z ] 555 600 557| 1, 157|FEHTET 350 447 477 924 A AINT) 11 358 458 485 943
)1y 233 191 270 461| fEEFHIX 14,605 17,217 17,461| 34, 678|%ERHT 424 550 562| 1,112 AKX 1,570 2,146 2,203 4,349
L1 FE T 117 111 114 225 Fhldemy 221 297 308 605
S1) 89 84 99 183| b/ sy 757 897 947 1,844 EHHX 3,253 4,267| 4,375 8, 642|SEARHTPEH R 710 952| 1,016 1,968
Pu > T 42 48 50 98| /Nty 445 580 646 1,226 FESRHT & B 82 110 126 236
el 50 61 57 118 kA my 3, 055 3,169 2,737 5, 906| FRJEAT 1,093 1, 307 1, 356 2, 663| FHRHTHAZ IR 341 233 210 443
G mT 87 93 78 171 F/NBHT 2,129 2,349 2,188 4, 537|145 RAHHT 270 392 402 T4 EEHBHT R S5 816 1,160, 1,186 2, 346
JHIAERT 232 239 266 505| T/ HT 1,510 1,619 1, 557 3, 176|LLimmT 600 830 821 1, 651 | FEHRmT HH = 393 551 568 1,119
FEHAHT 428 359 441 800| HLHHHT 1, 407 1,637 1,615 3, 252 FRJFHAT 398 549 554 1, 103| ZARRT 2 1,118 1,474 1,574| 3,048
i FH T 172 172 162 334|FkIT—TH 287 278 207 485| FP AT 200 254 254 508 FEAPHT ¥ 675 933 975 1,908
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M [ 321 516 505 1, 021 & FHMT Jy 1L 172 285 271 556
FEHRMT 201 302 307 609| 5 HMTAYS 456 637 618 1, 255
FEPRETFT A (L 139 200 213 413 E AT I 276 362 376 738
FEHRMT )1 403 560 591 1, 151 | & Hmuyh 472 700 662 1,362
FEYRIT P 6 5 10 15[ & HHT % H 403 564 606/ 1,170
FEHRMTAAAIR 770 1,116  1,148| 2, 264|FHMTLHA 98 151 156 307
FEGRET A i 1, 444 1,925 1,998 3, 923| & HHT 32 47 55 102
PR HE X 7,419| 10,037| 10,427| 20, 464| & H0T R 283 408 431 839
EEaalp: 210 203 246 449
Sl ET 3,147 4,141 4,302 8, 443|HHETHA 39 64 60 124
paislag 1, 387 1,751 1, 906 3, 657| 5 HHT IR 13 13 17 30
5| FE T 413 568 619 1, 187| H T L L B 359 531 555 1, 086
3=t 1) 132 188 198 386 FHHTRIR 41 61 75 136
T faf v ] 223 251 253 504 & H-ET £ 1 119 179 167 346
77K T 72 113 109 222| EHHTH S 133 217 211 428
% JE[RIET 62 98 104 202| 5 HET/NER 322 449 482 931
B S HT 171 265 267 532| & T EAE 105 170 188 358
V5[ 5y HT 209 313 316 629| & HRT A I 167 234 227 461
b Iy 311 389 360 TA9| & T /N 200 301 305 606
T e AT 2,801 3,739 3,675 7, 414|FHHETERE 514 741 717 1,458
AT 1, 054 1,347 1,346 2,693 HEFHATHIESE — T H 315 406 433 839
=AY 634 891 908 1, 799 EFHMTEBE T H 342 442 478 920
R AT 1,303 1,639 1,598| 3,237 EHFHETEEEAE =T H 226 319 312 631
[iZ1=1a) 1,059| 1,389 1,343| 2, 732|E HHTE IR 292 443 441 884
rh ELET 388 507 550 1, 057| & HMT FELE 92 139 147 286
PR T 559 764 784| 1, 548| EHHMT FHLE 145 208 200 408
FEHET 475 618 682 1, 300| AT O 59 97 93 190
RER X 14,400 18,971 19,320 38,291 #HHFHX 8,976 12,526| 12,802 25,328
iy 5,440 6,296 6,420 12,716
T b X 5,440/ 6,296  6,420| 12,716
R T 1,166] 1,609 1,709 3,318
rh = AT 980 959 1,171 2,130
S AT 460 657 646/ 1,303
B4 LT 123 73 104 177
R4 IHIRT 49 47 69 116
R ERT 335 520 541 1,061
LT 850 1,154] 1,206 2,360
o L LT 653 920 910/ 1,830
- HLRRT 947| 1,310/ 1,384| 2,694
AT 845 1,185 1,205 2,390
e T 674 949 978 1,927
FaHT 149 230 226 456
+- 3T 198 307 277 584
B PRHT 333 505 492 997
=Y FRET 106 145 147 292
[URLa) 117 166 174 340
R4 X 7,985 10,736 11,239 21,975
E R 624 808 824 1,632
IR E IR 1,171 1,437 1,501 2,938
E R RAR 218 324 331 655
IR RAR 940/ 1,368 1,396 2,764
2 HEET/M 138 218 221 439 w A E 152, 044| 184, 793| 190, 104| 374, 897




